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OgId 22X 22l &M, vz 2
20,000& 2004 4,000
OFeH, E2HM, ZEHM & A8 227¢
10,000& »800= 8,000
OHEY =37 MM UHM(BXH, ZE ) ¢
4,000,000& *43| 16,000
oz 8 238X Mg 8) 2
600,000 102 6,000
OJzs & =X FHAM(R, &, 8Kt
g) 7¢ 1,000,000& 102 10,000
O+ & XAX XN M(s, gdl) 7 8,000
OREH Z2HI AHE 22, 22 #¢
3,000,000 »43| 12,000
O&YH ZHIX X4 Z2AXNM(BX, 2xEH|
, Hlz2 s )7 2,500,000 »43| 10,000
OL& ZCheal(4Hd) Als 28 2
1,000, 000& *43| 4,000
AEHI SR 686,000 735,000 A 49,000
A& HI 680,816 729,865 A 49,049
OFRGA Z2HX ZHALS
30,000,000& *98.92% 29,676
OZa=x 88 &AL
50,000,000& *98.92% 49,460
OAEH ZHX LAY 60,000,000& *99. 1% 59,460
Otz Ygols ALY
1,000& 10,0002 *23] 20,000
OOEERIALSR Eolls ZMAY
10,000, 000& *52] 50,000
OFYGAL 2H0I13H & A WAL
20,000,000& =14 20,000
O&E2d X Itz EXEY
40,000, 000& %98.92% 39,568
O&E=zH Jt2&d FHlAY
1,000,000 »100km*99. 1% 99,100
O0t2= HUIAI (2JH4) 15,000,000 *2J4 2 30,000
Ottei s, St 2E EFAY
40,000, 000& *98.92% 39,568
O&s8Y XNEE 73084 282 LAY
100,000, 000& *99. 1% 99,100




2N
X ZH -
L= B

el

e
M Jz oo

> i &
b >

0x A
0x

= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
Oss¥ AMNEH ZEa AMAY (F2EA
Ol &) 20,000,000& *98.92% 19,784
OALOH &IDle= EEAY
100,000, 000& *99. 1% 99,100
O2F IS =34 5,000
OuEL Sdla HULR ATHAY 10,000
OdEY =M Alls =4 11,000
03 A& =2 THHI 5,184 5,135 49
ORGAF 2HX LAY 20HYI
30,000,000& *1.08% 324
OEas &J/d ZEAME 2l
50,000,000 x1.08% 540
ORAEY Z2HIX LAY 20YI
60,000,000 x0.9% 540
OL=2¥ K& Itz dXAMY 20U
40,000,000 x1.08% 432
OL2HY Ji2&d FHAY 20Ul
1,000,000& *100km*0. 9% 900
OttefE, Sstet 28 ESMY F0UI
40,000,000 x1.08% 432
OssH NE& 73054 Jt2Z 2 Z8AE =2
Chyl 100,000, 000& *0.9% 900
OssY LAMAEH Zd2 AMAY (F2EH
Ol &F) 20,000,000& 1.08% 216
OALOE &4 Ot B& 100,000, 000& *0.9% 900
T Y OERFXL(2X) 23,000 62,000 39,000
= 23,000
401 AIEHIZ 201 8I 23,000 62,000 239,000
< 23,000
01 A& HI 23,000 62,000 A 39,000
OEd &Y 2L 4 10,000
< 10,000
OHe BHLY =¥ ZUAXY 13,000
< 13,000
Z2t=3st ,200,000 1,100,000 1,100,000
Xl ,000,000
< 200,000
Al ,000,000
AXH SA=, o=, 2, 8S0t2s 8 24 ,000,000 1,000,000 1,000,000
AS(EX)
Xl ,000,000
Al 1,000,000
401 Al HI & 28I 2,000,000 1,000,000 1,000,000
Xl 1,000,000
Al 1,000,000
01 A& 8l ,986,500 992,800 993,700




A
A =MCAEA
el PP =3 CEEEED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
OZAl&=Zx 4 (2ha) 600,000,000& *99.28% 595,680
Xl 297,840
Al 297,840
OJ24ZE 4 (4km) 400,000, 000& *99.28% 397,120
Xl 198,560
Al 198,560
Od sS4 22 h=E =X 4 (3ha)
1,000,000, 000& *99.37% 993,700
Xl 496,850
Al 496,850
03 AIE 2 0HHI 13,500 7,200 6,300
OZA=x4d(2ha) 20U
600,000,000& *0.72% 4,320
Xl 2,160
Al 2,160
OJt2 =4 (4km) 20|
400,000,000& *0.72% 2,880
Xl 1,440
Al 1,440
Od84 AU =xX4(3ha) FUHYI
1,000,000,000& *0.63% 6,300
Xl 3,150
Al 3,150
=MIAUSXNAAMNG(BEX) 200,000 100,000 100,000
< 200,000
201 Yere2 | 900 700 200
= 900
01 At 22l 900 700 200
O=XANE sz 24 2 - A2 R2E
200,000& x33| 600
= 600
OEXANE sz 24 =043 Iz 23
- 300,000& =13l 300
= 300
401 Al& I 28I 199,100 99,300 99,800
< 199,100
01 A& HI 199,100 99,300 99,800
O=XAE Uss =4 199,100
< 199,100
MEASSH 4,777,643 5,339,725 A 562,082
= 2,340,005
< 739,828
Al 1,697,810
NS 4,091,152 3,242,732 848,420
= 1,933,248
= 646,774
Al 1,511,130
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H-HAZA) - NRAMY - BES

Off &t 24

=

i
2

HMIIRI|(BEX)

= N H

1

,872,912

936,456
280,937
655,519

1,549,030

401 AIEHIZ 2 I

= N H

,872,912

936,456
280,937
655,519

1,539,030

333,882

01 A& HI

OZXE X IR II(550na) 703,298,000 *99.37%

OO0 & Lt2 It 3 1 (200ha)
272,556,000 *99. 28%

OZ2URIt3I1(500nha)  897,058,000% *99.37%

03 Al 2 THHI
OZXEXIHRI 20HI
O UHRIHRI| 20|
O2USRIRI 2l

= N H

= HmnH

= MW

—_

,860,869

698,868

351,649
105,495
241,724

270,594

136,278
40,883
93,433

891,407
448,529
134,559
308,319

12,043
4,430
1,962
5,651

1,529,090

9,940

331,779

2,103

SSEHNRIN(AXSHHIAZ2)(EX)

= Hn W

171,744
87,333
25,323
59,088

217,152

N45,408

= M W

157,870
78,935
23,680
55,255

199,045

AN41,175

A
.

04 D122 2 TS

=
ORI ZALEH(2E) 16,880,000 «2Y

>
o

|,

@) HHOIQOHA =T EHB8H)

k

15,513,750 »8&

= N W

= N H

157,870

33,760
16,880

5,064
11,816

124,110

62,055
18,616
43,439

199,045

AN41,175

[he}
2
e
L
Mo
02
[=x

= N H

1,200
600

180
420

800

400
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M
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Ar2 2t el ] 1,200 800 400
OmINHFINIXNE AL = 1,200
600

180
420

A
=
10
0r0
0
1
e

= HnH

202 o4 Hl 3,000 3,000 0
1,500

450
1,050

= N H

0

e

=U 0l 3,000 3,000 0
Oug oI A=8E I R 25 3,000
1,500

450
1,050

= 0N W

206 M= Hl 6,752 6,524 228

,376
,013
,363

= N H

01 M= dl
OAHBIOI0A =& & P

752 6,524 228
, 752

,376
,013
,363

N — W &0 O N — W

= N W

301 LEE A= 2,922 7,783 N4,861
2,922

H

09 BAMAHIEAS 2,922 7,783 N4,861
ORI EAMNE NnEEHHI(2Y) 900

900
OUMEHHIOIQHA =T NEEHU(8Y) 2,022

2,022

H

H

P
u

2,000 1,200 800

201 &

T
)
02
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2,000 1,200 800

01

=
=

2,000 1,200 800
2,000

> 40
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1o
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[h
A

2,044,496 1,475,350 569, 146
909,459
340,514
794,523

Z N H

401 AIEBIZ S CHYI 1,951,655 1,328,440 623,215
860,253
327,516
763,886

=z N W

01 A& HI 1,941,532 1,322,503 619,029
O2UR 32U X2 (20ha) 183,339,000 *99.28% 182,019

91,669
27,501
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SRR}
M MEASSH
el ARISA (SHol: @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 62,849
O &F2ITH 3 2 X 2 (50na)
316,539,000& *99.28% 314,260
2 24,864
< 87,503
Al 201,893
OZX &4 A 22l (94ha) 42,449
= 25,469
< 5,096
Al 11,884
OZ M x4 (120ha) 403,178,000& *99.28% 400,276
= 215,176
< 56,493
Al 128,607
OX9 3 =4 (50ha)
1,006, 150, 000& *99.64% 1,002,528
= 503,075
< 150,923
Al 348,530
03 A& SR THHI 10,123 5,937 4,186
OZUFSdxE 20t 1,320
O& oYX =S SOl 2,279
OZMEx=4 20Ul 2,902
OXNYgEstgdxd Rl 3,622
402 2I2H X201 M 92,841 146,910 A54,069
= 49,206
< 12,998
Al 30,637
02 QI EAISEZ (OIS ) 92,841 0 92,841
OE&4+=x e (25ha) 84,225
= 44,639
< 11,792
Al 27,794
OREEXZEZE(3ha) 8,616
= 4,567
S 1,206
Al 2,843
MEASIIEHEH 495,371 1,862,090 A 1,366,719
= 261,047
< 79,429
Al 154,895
LHSAHKX 2l 10,000 4,000 6,000
301 e A3 10,000 4,000 6,000
09 BALAIHI 2 &3 10,000 4,000 6,000
OLY=AHI H=2CHE &It 90,000& 20 1,800
OLY=AHAN Met=s=Us &It
60,000& x50H 3,000
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= N W
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25,522
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R
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o
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0o
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o
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o

= H W

72,920
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36,460
10,938
25,522
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= M W
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50,326
15,098
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A 581,158

402 212t A= 01 &

= MW

100,652
50,326
15,098
35,228

681,810

A 581,158

= W

100,652
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50,326
15,098
35,228

100,652

0o

z
]
10
O
o
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0x
iz
P

zZ W
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27,510
13,755
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1,098,200
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H
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27,510
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AT734,980
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2N s
M MYASED
ool MYUEYDSBAI EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 7,943
= 2,383
Al 5,560
MEQISR2YLINM(ER) 15,886 0 15,886
= 7,943
= 2,383
Al 5,560
101 Q124 H] 14,856 0 14,856
= 7,428
& 2,228
Al 5,200
04 JI2ZtHIZ2 2 NEE S 14,856 0 14,856
ONMEDIS SHOHLIM 14,856
= 7,428
o 2,228
Al 5,200
206 M = dl 530 0 530
= 265
= 80
Al 185
01 X2 4| 530 0 530
ONM=0lE 229 0HULM Mg 2 530
= 265
& 80
Al 185
301 Bt A= 500 0 500
= 250
= 75
Al 175
09 SHAIAHI EAZ 500 0 500
ONMEDISE YU N m=H| 500
= 250
o= 75
Al 175
A= 175,234 194,903 A 19,669
= 137,767
& 11,242
Al 26,225
BHE 2t FOX/|(EX) 168,603 194,903 A 26,300
= 131,136
= 11,242
Al 26,225
402 SI2F 20| ™ 168,603 188,272 A 19,669
= 131,136
= 11,242
Al 26,225
02 CIZEXIE A E X (0| & TH) 168,603 0 168,603
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S M
mu: MRASEO
gel s eEH)
S EH G (3) - RN - BES Of &t il 3
OS2 FUALASKAY 168,603
= 131,136
< 11,242
Al 26,225
W2 ASALE NR(PE) 4,483 0 4,483
= 4,483
301 L2 A S 4,483 0 4,483
= 4,483
11IIEEA S 4,483 0 4,483
M2 ASRAAE XE 4,483
= 4,483
et ESES(EX) 2,148 0 2,148
= 2,148
202 odl 2,148 0 2,148
= 2,148
01 = LH YI 2,148 0 2,148
OQUHSHZ E58S 2,148
= 2,148
HEMIMEDSEE 2F 946,206 670,794 275,412
SHAMHD=EZT 22 ¥ 299 946,206 670,794 275,412
HEHAME WSS HA2 22 & 23 711,457 534,794 176,663
101 1A bl 143,583 101,304 42,279
M4 II2HHZ22NSES 143,583 101,304 42,279
OFAIZ el o2 (HA2H, MWE2Y, L2
g, ME1Y, 29EX 19) 123,396
51,7603 x8H x298
ORZ=Q oIsel 51,7602 102 ¥52 x63] 15,508
OnAsLE BEHA 22
51,7603 x 15«63 4,659
201 L2l 336,194 196,550 139,644
01 At &2l bl 163,184 115,740 47,444
ONgEZz1d 29 20,000
OLAHANAE &2 EX & 60&*50,0000H 3,000
Oosegsa M 10,000
Ofeldd 4 220,000& »12& 2,640
ONBEE % =ADl £ 72
1,000, 000& *23| 2,000
OS2 W20l £ 2L
85,000 44 *2CH x6 3| 4,080
OdAI 2 EA& 2 400,000& x12& 4,800
O&AIZ X E ] PDIsgdss F(
5021 &) 7002 *1,0000H 700
OsZIl X2l [ & 200,000& = 12& 2,400
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SN S

MM MS[UMHISE 29
Cel MEOIRMEDSE 2ol 2 29 (el:de)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OFAIZ AX2 IIEZH =22
215,000,000& *3.5% 7,525
OHSEHAMEINEE OHY, LdetXG AIEE2
400,000& *12& 4,800
O&F %I dxtz(40h) 50,000& *4CH x12& 2,400
OLxd8sx = 15,000& *22ton*23| 660
O=S=dHIaAF A (50m) 12,0003 x50 M x23] 1,200
Odutel =X 43 HA(100m)
12,000& 100 m* 1,200
O&AlZ 2 150, 000& *4 3| 600
O=2s &2l JlEt 3,000,000 x12& 36,000
o228 F(ots 28, s=2 24)
150, 000& x4 x18H 10,800
O&AIZ LA 50,0003 x6Y x5 x12& 18,000
OLLaHXHelAld 2tel 84| 360,000& x12& 4,320
OgBt=gH| 6,059
OJ18d dA=x 28 7Y 20,000
02 3524t 128,010 80,810 47,200
OEJ|otE 22 2 830,000& x12& 9,960
OFAZ I3 8,500,000 x12& 102,000
OHEHAMENWNEE HIIAE B A 450
OAagorNM 2 =3 200,000& 128 2,400
Oad SE§IdLEAYI 500,000& =23l 1,000
O&AlIZ AIE&&EHl ®AXbl 10,000
OE¥H ®& F2g4l 1,000
OE"H =&KX Yl 1,200
03 & AtE H 45,000 0 45,000
O8g Jegzz)y 29 45,000
202 04t 20,400 1,200 19,200
01 2 LHOHI 1,200 1,200 0
O& A2 HIX O 1,200
02 N0 bl 19,200 0 19,200
OUMSHAMEDET 22X
200,000 8 x12& 19,200
206 M = Hl 44,130 4,950 39, 180
01 M= bl 44,130 4,950 39, 180
dotzts L ZeHF=0L 7Y 1,000
OYisedM s ¢ 1,000
OxXZd4 Ha(ngeg D8 =2gdlg) ¢ 500
OXxdz4 gH 2 4,500 * 1004 450
OHHl MM(K, &, X JI?l 8) ¢ 1,000
O&CZI JIAH 257 7Y 1,000
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SA: A
M MSZMHDREY 2
Cel MEOIRMEDSE 2ol 2 29 GEERED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OFANEHE =SRA Zolb(Z28E B1)
1,300,000& 1974 24,700
O&AIZ 224 HIES N 2L 2,000
O&AIZ JIHANEESE ANH 2 1,000
ONAd+== =328 M=H 7Y
17,000& 2404 4,080
OFAIZ S22 2L (01034 2 5F) 5,000
Os2 Mz F¢ 200,000& «12& 2,400
401 Al HIL 200 160,000 186,690 N 26,690
01 A& HI 160,000 185,335 N 25,335
OSSR Z=QHHE & X (200 A)
5,000,000& 204 4~ 10,000
OHSUHAMENEH A2 FAE> 20,000
OXAIZ 21E SAF AHFHH2Z AIE XA 30,000
X HE &X 30,000, 000& *14] 30,000
O&AIZ HANL ALY EXIOH LB 100,000
E X 2 At 80,000
A=A 20,000
405 Xt | Sl 7,150 44,100 N 36,950
01 AL 2B F SHI 7,150 44,100 A 36,950
O&AIZ JIAHA MSI + 3,000,000 «1CH 3,000
OEA duey(z2e) ¢ 1,150
O=x4a A0 & It P2 1,500,000 * 14 1,500
O&AIZ SE2H A 2 7
300,000& *=2CH 600
OHlg &ZJ(SZED]) ¢ 900, 000& = 1CH 900
MEHAMEIDSY MERYAL 2ol ¥ 29 234,749 136,000 98,749
101 @124 77,433 72,360 5,073
04 JI2ZtH2Z2XNHEE 77,433 72,360 5,073
OFA 32 o8 51,7603 x2H x298 30,849
OM=&g o2 51,760& 152 *10H *63] 46,584
201 LBEt2 A Y| 84,616 63,640 20,976
01 At 22/ 32,416 11,440 20,976
OANRE2 & SA) EH F¢
1,000,000& *13] 1,000
OFA & 2H2E8E ¢ 400,000 128 4,800
O&3X 2= (8ton) 15,0002 *8ton*23| 240
O X2 (20H) 50,000& *2CH x12& 1,200
OgBt=gH| 3,000
OE¢glot2A &332y 1Y 200,000& QM E 1,800
ONMESAANE &z JIEZM =2
48,600,000& *3.5% 1,701
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